t10_orders_1 (TMLaHsAe-
MEU59ckvIASsY CFKkR2AYENdW Vve)

October 27, 2020

Let vl_relat.l : t=>0 be given. Let r8_relat2 : t=t=-0 be given. Let
rl_tarski : 1=1=>0 be given. Let k4_tarski : 1.=1=-1 be given. Assume the
following.

VX0.(vlrelat-1 X0)=(VX1.(r8_relat-2 X0 X1)<(VX2.
VX3VX4.(X2 e XDHAN((X3 € XI)A((X4 € X1)A((kd-tarski
X2 X3 € X0)A(kd-tarski X3 X4 € X0)))))=(kd_tarski X2 X4 € X0)))
(1)

Assume the following.

VX0VX1.(rltarski X0 X1)=(VX2.(X2 € X0)= (2)
(X2 € X1))
Theorem 1

VX0.VX1VX2.(vl_relat-l X2)=(((r8relat_2
X2 X0)A(rltarski X1 X0))=(r8relat-2 X2 X1))



